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QUESTION 1

Identify three approaches to indicate that a failure due to invalid requests occurred in a southbound system and that
must be addressed manually. 

A. Set order state to Failed. 

B. Set task to a custom-defined failed state. 

C. Transition the process to a manual fallout recovery task. 

D. Use Jeopardy notification. 

E. Use system events. 

Correct Answer: ADE 

 

QUESTION 2

You are designing a new fulfillment process for VPN sites for a communications service provider that wants to select
manually if the supply chain activity should be executed or not. Considering that your implementation includes a manual
task, which two options can you use to fulfill your client\\'s request? 

A. defining multiple statuses in the manual task 

B. designing different flow branches from the manual task 

C. adding an automator to the manual task 

D. adding a rule to the manual task 

E. assigning multiple roles to the manual task 

Correct Answer: BD 

 

QUESTION 3

You configure an External Event Receiver XQuery Automator with the following incomplete lines of code in your
automated task. To complete this implementation, you must substitute the value assigned to the $requestStr variable
with another appropriate value. What could be the possible value for this variable? 
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A. a request to update order data 

B. the request that was sent to an activation system 

C. the response received from an automation system 

D. the data associated with this task 

E. the request that will be sent to an activation system 

Correct Answer: B 

 

QUESTION 4

Which two types of fallout scenarios can be detected and notified by implementing a Jeopardy? 

A. invalid requests being sent to the downstream system 

B. downstream network connectivity error 

C. slow downstream system processing 

D. failure during order creation 

E. failure in runtime execution of automated task XQueries 

Correct Answer: AC 

 

QUESTION 5

Which two OSM components are deployed in Oracle WebLogic Server? 

A. OSM server 

B. web clients 

C. runtime database 
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D. Design Studio IDE 

E. provisioning framework 

Correct Answer: AB 

Latest 1Z0-493 Dumps 1Z0-493 Study Guide 1Z0-493 Exam Questions

Powered by TCPDF (www.tcpdf.org)

Latest 1Z0-493 Dumps | 1Z0-493 Study Guide | 1Z0-493 Exam Questions                                4 / 4

https://www.passapply.com/1z0-493.html
https://www.passapply.com/1z0-493.html
https://www.passapply.com/1z0-493.html
http://www.tcpdf.org
https://www.passapply.com/1z0-493.html
https://www.passapply.com/1z0-493.html
https://www.passapply.com/1z0-493.html

